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Before attempting the question paper, kindly check your Question Booklet(QB) and O.M.R. Answer Sheet and ensure that:
- Serial number of Question Booklet(QB) and OMR Answer Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of
Question Booklet(QB) and OMR Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start
of examination, candidate will be liable for the same.

2. SNUHAR SOR-UF% % N fw o @t frder o
Read all instructions on the reverse of OMR Answer Sheet.

3. SNUHSTR STR—UHE X Had -Id Sid Qe U %1 WA B | HUAT, SHTHSTT IT—T5% & 1A U T 37T 3= STeBTL qel &7 § X |
On OMR Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in
OMR Answer Sheet.

4. e fopdt weT & foie ueh 9 srfares S oifehd foRd STId € 1 S TTad SaX AT SR |
If more than one response is marked for a question, it would be treated as wrong answer.
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Each question has five options/circles. First four options/circles (A), (B), (C) and (D) are related to appropriate answer and
fifth option/circle “(E)’ is related to ‘Question not attempted’.
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To indicate the correct answer, the candidate has to fill in only one option/circle (A), (B), (C) or (D) with blue ball point pen
for respective question number on the OMR Answer Sheet. If the candidate does not want to answer any question then the
fifth option/circle ‘(E)’ should be darkened.

7. wid faed ¥ 9 @i o faseu e e TRt foar T A weT @1 1/39T aid e ferar s
1/3 part of the marks will be deducted for the questions, if none of the option/circle options are darkened.

8. 10 wfdera ¥ arferep wemt & fopely it ferehew/ et aht ervarell gy e Té fepan T <t 5@ wlien o foQ sra At & fean s
If'a candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for
the exam.

9. a1l B Ud® U9 & 1T H9 ¥ 9 U faeheu/Me 91 & A1 8 g ghfyad & & fig 10 fire sifafa fog s
Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.

10. Tfc 97 o ot A1 SIS TWBIOT § ROT AT FETHED TBicl i [hall T T Bl STETSE/ AN &, Tl SIS G&BL0T B S AT S |
If there is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions,
then the English Version will be treated as final.
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uTg TS < 5% faeg FrRmER ge st @l s
Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate, strict action will be taken against him/her as per rules.
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Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession,

F.I.R will be lodged against him/her in the Police Station and he/she would be liable to be prosecuted under State Public Examination

(Measures for Preventions of Unfair Means in Recruitment) Act. 2022 and Amendment Act 2023. The act has provisions of

imprisonment of 10 years to life and fine up to ¥ 1 crore. Board may also debar him/her permanently from all future examinations
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1 F=fafed § & 99 & g wdarss & saro d?
a. (WA foEars b. U € @R Rl S
c. RTS8 d. YT I S 2l
e. T qwae wedt 2
= frw T e & & wratfir S S = HIfC;
(A) b,c,d (B) a,b,d
(C) a,d,e D) ¢, d,e
(B) 3TaRa g
2 Which of the following is not a symptom of Measles? (Choose the most appropriate option from below)
(A) Red rashes on skin (B) Itching
(C) Drying of tongue (D) Burning sensation
(E)  Question not attempted
Freftftad & & 1 |1 @H 1 T e T8 82 (e o & wod I forehed o)
(A) T I AT Fohed (B) Qﬁ?ﬁ
(C) STaRTHET (D) ST HaET
(E) gaid o«
3 In which year Government of India launched ‘Padhe Bharat Badhe Bharat’ scheme?
UG WA o AR FISHT A ThT FI foher o H A o6l 7 oft?
(A) 2013 (B) 2014
(C) 2015 (D) 2016
(E)  Question not attempted / ﬁﬂﬁﬁ 9q
4 A man deposited Rs. 8000 in two different banks for 4 years on simple interest. If the difference between the interest
received from two banks is Rs. 1600, then the difference between their rate of interests is
(A) 4% per annum (B) 5% per annum
(C) 6% per annum (D) 8% per annum
(E)  Question not attempted
T fth = ATURUT SATST W 4 AT o foTT &1 STT-3TeT siehl H 8000 T STHT o) IS 3T Saht & TH SATST o i< 1 3T
%.1600, T SThT SIS G o 11 T SR &
(A) 4% gfaad (B) 5% ufaad
(C) 6% 9fdad (D) 8% ufaad
(E) rJaid oy
5 Frfefed § & E5 a areR FHare w1 aatis ST See 22
(A) HeY A @A 8| (B)  UISIITAT H I8 WA WeAT STl 2
(C) ST 3T 7t s (D) T 98 K 9ei|
(E)  raid o
6 Which conclusion would follow on the basis of given statements?
Statements: i. Some toys are goats.
ii. All toys are animals.
Conclusions: 1. Some toys are animals.
II. Some animals are toys.
In light of the above statements, choose the most appropriate answer from the options given below:
(A)  Only conclusion I follows. (B)  Only conclusion II follows.
(C)  Neither conclusion I nor II follows. (D)  Both conclusions I and II follow.
(E)  Question not attempted
Taw TTu et 3 STTUR WX i & Feehs ol aTer foRam Sam?
F: Q. TS Raci aHiEr
i, ot Rae s E
frepd: . %o Racie et d)
L % e Rt 8]
ST e 3 ST ¥ frerfrfiaa foreredt o & waifies U St I
(A) had RS 1 T 9Tl BIdT 2 (B)  haet forsehs 11 7 1o 21T 2]
(C) TafdIRaf R nwruemaaral (D) epd 1 iR s 11 391 &6 ITe BT 2l
(E) gaid o
AS1] 4+ 2 [ P.T.O.
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7 Which region of Sikar district is famous for gota industry?
(A) Khoor (B) Khandela
(C) Piprali (D) Nechwa
(E)  Question not attempted
iRt TSTeT 3T ShI9-8T &1 TI1eT ST o T Jiésg 82
(A) ©3 (B) W@USE
(C) Tt (D) A=ar
(E) 3rgaid o
8 Choose the most appropriate Prefix to complete the underlined word in the sentence given:
Condemning people in public is productive because it makes them hostile.
(A) mis (B)  counter
(C) over (D)  under
(E)  Question not attempted
9 Under which Article through 86" Amendment of the Constitution, free and compulsory education to children in the
age group 6-14 has become a Fundamental Right?
(A) Article 26 A (B) Article 21 A
(C)  Article 30 (D)  Article 35
(E)  Question not attempted
HTRET % 863 AT % HTeA & e SIode % TR 6-14 % ) 1 vl 36 T Tt e s Rrert o T
SRR & T B2
(A) FTWR26 A (B) FT=E21A
(C)  3FT=8T 30 (D) IR 35
(B) orgafa g
10 Replace the underlined words with a single most appropriate word from the options given below:
Passengers should not get-off from a moving train.
(A) walk (B) climb
(C) crowd (D) alight
(E)  Question not attempted
11 Which scheme is not associated with ICDS (integrated child development scheme). (Choose the most appropriate
option from below)
(A) Aanganwadi Service Programme (B)  Housing Scheme for Villagers
(C) Poshan Abhiyan (D)  Pradhanmantri Matru Vandna Yojana
(E)  Question not attempted
I H FISHT ICDS (ST SITeT i TS & Eefer et 82 (1 3 & werd) Sugeh foshed =)
(A)  ATTHETS T AT (B) TN % o 3reme AT
(C)  doT AR (D) W= A1 A& AT
(E) rgaidas
12 Identify the incorrect statement associated with vaccination:
(A) It helps to stop spreading of diseases among people
(B) [Itis safe to give many vaccines to children at a time as it reduces the number of injections needed for them.
(C) It causes mixed side effects that does not last long.
(D) If large number of poeple are vaccinated, it is possible to reduce or even get rid of some diseases.
(E)  Question not attempted
TR U S TTeld He shi T il
(A) TR SHiE F e & Uohd § Hag T 2
(B) Sl ol Ueh @ H g ok oRTIHT GUferd € TSred §S o ol U ol SATawashal H sl 81 Sfrell |
(C) @@ Tl gorwre €id € Sit foh el qw ook T wd € |
(D) I =St EaT AR STeRoT fohaT ST df 3 ST H T 31T Hehdl! & AT 378 ST I ST §ehalT 2
(B)  orgafa g
AS1] 4+ 3

[ P.T.O.
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Who composed the song Vande Mataram in Sanskrit?

(A) Rabindra Nath Tagore B)
(C)  Prem Chand (D)
(E)  Question not attempted

d HTaRH T AT EEhd | T fohdeh g hl T15?

(A) TR (B)
(©) T= D)
(E) rJaid o

“Fohfer a1 ek ST |fY fooa 8-

(a) o+ fq (B)
© fh+faq (D)
(B) oFgafa g

Select the incorrect statement,

An anganwadi is a place or a center for

(A) Formal school education (B)
(C)  Supplementary nutrition (D)
(E)  Question not attempted

T S T AT B

SAHETE U Y e AT hE A et v/ frerar 21
(A) i Shel e (B)
(€) TF TR (D)
(B)  SFdia o

Two statements are given below:

Bankim Chandra Chatterjee
Virendra Nath Tiwari

S =g st
foreg ey faamty

fom + Faq
R+ =

Immunization
Health check up

Qr-gfeeror
T ST

Statement I: Fruits and vegetables are good source of dietary fiber.

Statement I1: Fiber provides many nutrients to our body.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.
(E)  Question not attempted

EICRAC SRRl
A - 1 : %eT 3T Gfestat SR I & 371 |id 8
HUT I1: WM EHR IR 1 S G1eh dedl T T2 |

Iuh I o STl | ffeTRad fospedt # & waifers 3ugw S = -

T T 3 11 T TTeld 2

HUT [ TTeTd & Afeh e 11 EeY 2

Kalinga
Marwar

HIHT
HRATS

(A) O 1 3R A 11 T & Tl & (B)
(C) o 1H& 2, foheq o 11 7Teid 2 (D)
(E) gaid o

Yashovarman was the ruler of which of the following kingdoms?
(A) Mewar (B)
(C) Kannauyj (D)
(E)  Question not attempted

frferfiaa o & fore TTETSY T ST FETEHT o2

(A) "I (B)
(©) (D)
(B) orgafa g%

AS1] + 4

[ P.T.O.
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18 Present ages of Amit and Sanjay are in the ratio of 5:4 respectively. Three years hence the ratio of their ages will
become 11:9 respectively. What is Amit’s present age in years?
(A) 24 years (B) 40 years
(C) 30years (D) 18 years
(E)  Question not attempted
AT I ESHT T ST ST HT AT AT S : 4 81 A I TT IFhT 371 T ST HHRM: 11 2 9 B ST Ao

FAAT 31T (T ) fopaett Gl
(A) 2478 (B) 40a¥
(©) 309 (D) 18a%
(E) gaidad
19 The rainfall “Mavath” is-
(A)  Summer rainfall (B)  Autumn rainfall
(C) Winter rainfall (D)  Pre-monsoon rainfall
(E)  Question not attempted
(A)  TegeRTeh aut (B) IRg I AN
(C)  YfiqenrefiT awt (D) an“awf
(E) gaid g
20 A pregnant woman must schedule regular health care appointments for
a. Routine blood tests to check of anaemia.
b. Monitoring the baby’s blood pressure.
c. HIV test

d. Blood test.

Choose the most appropriate answer from the options given below:

(A) aandb only. (B) bandconly.

(C) b,canddonly (D) a,candd only.

(E)  Question not attempted

T Mardt Afee st s o fFrafia e devme afgfeat fraffa st snfee,a 2-
a. STCRAT 1 FRIfia i e weeE

b. T e e o R

c

. HIV weqor
d. e S
et fow e fereredt o & warifere U 3Tt <
(A) SacTa b (B) HadAbIc
(C) b, ¢ 3d (D) ada, ¢ 3d
(E) rgaid o
21 Given below are two statements:

Statement I: An adult person should drink enough water every day.
Statement II : Water helps to remove wastes in the form of urine and sweat from the body.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement I and Statement II are Correct.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.
Question not attempted

(E)

:ﬁ%awﬁqw%

HU - | : Teh Ty AfE bt Gidfe vy urH far =nfee

HAT 11 : I IR & 91 37 01 & &9 § UMY (FhR Tret) i S1e fHehre § GerdT Sl &
mm%m%mﬁwf@mﬁmmwaﬁ

(A) Wlaﬁtwnaﬁ%ﬁ%"r% (B) 1 ST 11 T et 3
(C) FATIERE, o FoT [T 2 | (D) YA 1 7T & Tk e 11 W&l §
(E) rgaid o

AS1] + 5 [ P.T.O.
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22 Match List-I with List-II :
List-I List-1T
a. Bill Gates L. Infosys
b. Narayan Murthy 1L Wipro
c. Azim Premyji III.  Reliance
d. Ambani IV.  Microsoft
Gl -1 1 G -11 & g ferd hifeg ;
Tt -1 Tt -11
a. foret | L. ShIfeE
b. AR AL I fas
c. IS ywST . e
d. oMl V. TWIEhEe
Choose the most appropriate answer from the options given below:
i faw e fereredt ® & @R U S AT :
(A) a-IV,b-ILc-I,d-1II B) a-Lb-I,c-1,d-1IV
(C©) a-IV,b-Ill,c-1L,d-1 D) a-Lb-1V,c-1I,d-1I
(E)  Question not attempted / 3413'3??‘1 K]
23 SATHY SR AT Y163 T WA/ HE e U 31 8-
a. M ET b. 3
c. fafera d. SIECID]
e. HEEISI
e T T fereredt # & e ST ST T = i
(A) b3Rc (B) ad3Ne
(©) c3d (D) bafd
(E)  TJaRd g%
24 Who is the ex officio chairperson of Niti Aayog?
(A) President (B) Vice President
(C)  Prime Minister (D) Home Minister
(E)  Question not attempted
fer SATART % 4aT 3TEAE M Bl 82
(A)  Tsgfa (B)  3U-Tgufcr
(C) U HAT (D) A
(B) orgafa s
25 Identify the most appropriate English equivalent of the technical word - I9Y 9
(A) Ledger (B) Affidavit
(C) Advisory (D) Addendum
(E)  Question not attempted
26 Choose the most appropriate option to fill in the blank with the degree of adjective.
Silver isn’t as Gold.
(A) more expensive (B)  as expensive
(C) expensive (D)  the most expensive
(E)  Question not attempted
27 The price of an article is first decreased by 25% and then increased by 20%. If the last increased price is Rs. 1800,
then the original price in Rs. was:
(A) 1710 (B) 2000
(C) 1680 (D) 2400
(E)  Question not attempted
forel! AT 2T e et 25% EIeAT @ SR ATE H 20% et 2| Al 37 H 9eT 3311 790 1800 T 7, T $HeHT AT oieh 7ed
T T oT-
(A) 1710 (B) 2000
(C) 1680 (D) 2400
(E) i o
AS1] + 6 [ P.T.O.
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28 Given below are two statements:
Statement I: During pregnancy a pregnant woman need to eat one extra meal a day
Statement II: Green leafy vegetables are rich source of Vitamin D
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement I and Statement II are correct.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.
Question not attempted
:ﬂ% 3 e fammu &
HUA-1: W%Wnﬁﬁﬁﬁqﬁ@aﬁmﬁm@ﬁﬁwﬁ%
O - 11 : B TaT Hfostat forerfi <t < ush st & @)
SWRITH oM % Tl H Fefofad fosredl § & waifies SR ST

(AY hor 1 1T 113 @l & (B) U1 3 11 1 7Tt B
(C) FATIEEE, o ha [T 2 | (D) o I 7TeAd €, Tore ot I el 2
(E) ritd o
29 “Motivation means a process stimulating people to action to accomplish desired goals”. Whose statement is this?
(A) William G. Scout (B)  Mc Farland
(C) Dubin (D)  Fred Luthaur

(E)  Question not attempted

Qo < 37, Sffesd et Y i o forg it ot sfae 3 o It e areft ufsha 217 98 s fraen 22

(A) éﬁqﬁﬁmﬁ IS (B) gwm@g
©) (D) gl
(E) g o

30 In which year National Urban Health Mission was approved to be launched ?
TR STt Eareed THeT fore o § AT 81 o foTe Tl 83T ot 2
(A) 2010 B) 2012
(C) 2013 D) 2015
(E)  Question not attempted / \'ﬂfﬁﬁﬁ e
31 Which is not an element of directing?

(A)  Supervision (B)  Non-communication
(C) Motivation (D)  Leadership
(E) Questlon not attempted
I T 49 T ded / ST el 22
(A) qﬁ%rw (B) TW-EER
(©)  rom (D) A
(E) gaid o
32 Match L1st I with List-11

List-I List-I1

Stage of Pregnancy Embryo/ Foetus development
a First trimester L Development of limbs & digits
b End of 24 weeks 1L Formation of heart
c After one month III.  Organogenesis
d. End of second month IV.  Formation of eye lashes
Tft-1 1 FA-11 % | free &

wefi-1 w11

THTSET S STaeeT 5ot foreRra
a. o fawTel L &l d Sferdt w foem
b.  24d R & 3fd T . BRI
c.  UHHE 9L 0L 3 fmior
d.  GHUHIE % 3(q IV. 9T T ST
Choose the most appropriate answer from the options given below:
i fog v forspedt %ﬁ Ao T S|
(A) a-Lb-I,c-1II,d- IV B) a-UL,b-1V,c-1I,d-1
(©) a-IV,b-Ill,c-1,d-1I D) a-I,b-Lc-IV,d-1II

(E)  Question not attempted / ﬂ@ﬂﬁﬁ BES
AS1] 4+ 7 [ P.T.O.
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33 Nutritional diseases may be caused due to:
a. Nutrition deficient diet
b. Physical deformities
c. Inability to absorb nutrients
d. Unbalanced diet
Choose the most appropriate answer from the options given below:
(A) a,candd (B) aandb
(C) candd (D) bandd
(E)  Question not attempted
YT Hefeft AT o HRT &Y R B -
a. T H FHHT STAT AR
b. IR feEiaat
c. Ui dcal I ST A F sremelar
d. T R
et fow T forspedl H @ waTifersh Sy ST <]
(A) a,c3d (B) a3b
(C) c3Rd (D) b3WRd
(E) aidgd
34 In 2024 World Immunisation week was celebrated during :
(A)  April 24-30 (B) January 14-20
(C) March24-30 (D) February 5-11
(E)  Question not attempted
for SehTeRToT HETE 2024 HHTET T :
(A) T3 24-30 (B)  SHall 14-20
(C) = 24-30 (D) @& 5-11
(E) raid gy
35 Two statements are given below :
Statement I: Prenatal care helps to decrease risks during pregnancy and increases the chance of a safe and healthy
delivery.
Statement II: In India during pregnancy parents can ask the doctor about the sex of their unborn child.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement I and Statement II are correct.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct
(E)  Question not attempted
frqr e fagmu d
AT - 1 : TS ST & TR o S SHRGH FH i H e et 2 ST se uierd o Tes Jae s graral
H gfg & STt 2
SR 11 : TRA H TG & S A1ar-fuar fafrcdes & o707 315 el o foftl o TR § ST 9o 2
ST U % ST H FfARad fohedt § § @aifie 30w Sa o :
(A) e I 3R A 11 31 Tt &) (B) AT I HT 7T B
(C) o 1 E& 2, foheq o 11 7TeTd 2 (D) U [ 7T &, TR he 11 T 2
(B) ofgafa g%
AS1] + 8 [ P.T.O.
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AS1] +

Given below are two statements:
Statement I: Tetanus is caused by protozoa.

Statement II: A “whoop” sound is produced by the person suffering from pertussis.

In light of the above statements, choose the most appropriate answer from the options given below :
Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect. (D) Statement I is incorrect but Statement II is correct.

(A) Both Statement I and Statement II are correct.

(E) Question not attempted

o St e few o &:

HUT 1 : TG TIEISISAT % HI0T &Il 2l

e 11 : T | ifed ot 37 el Sea1 e 2|

(B)

S Ohwdll\a?iﬂlﬂl%ff i faw T et B & we I9Yh I |
FO T S0 R 11 2T & et 3
U [ TTeTd & AR o 11 T2 2

(A) Wlaﬁtwnaﬁaﬁ%l
(C) & 1 TEl B Aok e 11 7TeTd 2
(E) raid o«

e & & wereien Far & 3 o e a1t i1 <o -

(A)  EeH! R gt 2
(C) a%’aqwﬁt@amél
(E) rgaid g«

Two statements are given below :

Statement I: Leadership indicates ability of an individual to influence others.
Statement I1: Leadership tries to bring change in the behaviour of others.

®)
D)

(B)
(D)

TFENT St Aerar 2
e AT

In the light of the above statements, choose the most appropriate answer from the options given below:

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct but Statement II is incorrect
(D) Statement I is incorrect but Statement 11 is correct

(E)  Question not attempted

= 31 e fer T :

Wl.ﬁqaﬁﬁa?wﬁﬁa%aaﬁaﬁwﬂﬁam%wmaﬁmél

o II: et T % e i UREdH R BT S e 2
SRIh FoM] T3 SiTeiien 4 Frfofiad fosedt § @ waifaes SR ST 9

Wlaﬁtllﬁﬂﬂﬁ%

U 1 TTeAd &, WA Toh o 11 98l 8

(A)  FIUTT I 2T a § (B)

(C) U 1TEI &, e T 11 7Ted & (D)

(E) orgafd g

Fill in the blank in the sentence given below choosing the most appropriate word from the options provided.
How sugar would you like in your coffee, one or two tea spoons?

(A) more (B) many

(C) alitte (D) much

(E)  Question not attempted

Fill in the blank with the most appropriate form of the verbs from the options given below-
We arrived at work in the morning and found that somebody

(A) had broken
(C)  had brake
(E)  Question not attempted

Who was the first Chief Election Commissioner of free India?

(A) T.N. Seshan

(C) K. V.K. Sundram

(E)  Question not attempted

A R o ToH T AT SR 1 32

(A) & T _I
(©) .M & g
(E) mﬁ—dw

(B)
(D)

(B)
(D)

®)
(D)

into the office during the night.

has broken

has brake

Sukumar Sen

S. P. Sen

[ P.T.O.
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46

Community mobilization is very important for the success of any intervention programme as it help, in

a. Increasing community ownership and sustainability

b. Decreasing the effectiveness and efficiency of interventions

c. Reaching the most vulnerable

d. Contributing additional resources to the response
Choose the most appropriate answer from the options given below:
(A) a,b,candd (B) a,banddonly
(C) a,canddonly (D) a,bandconly

(E)  Question not attempted

foreft ft 31a: &0 rfshm o Theran & fore wmgaTfies TfaefierdT a8 meeaqt @ i wwwERwy

a. Hmammﬁwaﬂxﬁmwaaﬁm

b, 3id: S5l T gwTaEiierdT ST gerdr i we e |

c. YUY FHHSIK YFH doh TeaH | |

d. it 3 R sl gt 1 amee we &

et fow T forspeat # @ Hartferek SwIh St T ;
(A) Hada, b, c 3 d

©) Wa, c?:ﬁTd

(E) rgaid g«

(B)
(D)

FHacT a, b 3 d
Wa,bi‘lﬁl'c

Which of the following approach is not associated with community organisation which was given by

Murray G. Ross?

(A)  Specific Content approach
(C)  Process approach

(E)  Question not attempted

Freafarfad & & S |1 39T AR e, St at i T SR e ww o, @ weifta T &2
THI=T STOTT 6T SYTTH
EoGERIERIEASEL]

(A) Tafsre awom %1 sarm
(C)  JfshaT Iumm
(E)  aid o

®)
D)

(B)
(D)

General Content approach

Process of elimination approach

Manish is 80 years old. Raju is 10 years younger than Manish and 6 years elder to Rakesh. The youngest brother of
Rakesh is Brijesh and he is 8 years younger to him. What is the age difference between Manish and Brijesh?

(A) 30years
(C) 20years
(E)  Question not attempted

(B)
(D)

24 years
26 years

AT 80 A T 81 TS, AT & 10 9 BIT S ST AR 6 TN ST 2 THT 1 HoTd BT TS Fo11eT 2 37 98 39 § a9 Bl

%lmﬁmﬁr%éwa%méaaﬁaﬁﬁmw%?
(A) 30a9

(C) 2099

(E) aid o

Which among the following is not a part of Western Costal plain? Choose the most appropriate option from below:

(A) Malabar Coast
(C) Coromandel
(E)  Question not attempted

Freferfiaa 5 @ i | afart adta B o1 v 7 82 T 5 O gor 3ugwh S T

(A) HEER TS

(C) wHHsA

(E) gaid o

Nankana Sahib is the birthplace of which saint?
(A) Dadu Dayal

(C) Nanak

(E)  Question not attempted

TR HTfe fohd |l ShT ST T 82

(A) g
(C) TH®
(E) i o

AS1] +

10

B) 24a%

(D) 26a9

(B) Konkan

(D) Kannad Coast
(B) Wi

(D) IS

(B) Ramanand
(D) Kabir

(B) THHE

(D) sl

[ P.T.O.
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51

‘Quantitative’ W%WWW%@WW%—

(A) TOTCHE (B) WHTAT

(C) HHTHH (D)  Torgfd

(E) aia gy

The objectives of ICDS scheme are:
a. To encourage the nourishing mother for higher education.
b. The improvement of nutritional and health status of children up to 6 years.
c. To lay the foundation for social, physical and psychological development of the child.
d. To reduce the incidence of mortality, malnutrition and school drop out.

Choose the most appropriate answer from the options given below:

(A) aandb (B) aandc

(C) b,candd (D) candd

(E)  Question not attempted

ICDS JISHT % 33 &:

T U AT AT bl Soa R7afT o Seanted il

a.
b. 6aﬁwaﬁmé€a—nﬁé€ﬁww3ﬁsmqaﬁﬁaﬁﬁW|
c o 3 ATHTR, SR S AR e s e e

d. oAl hl eI X, FAOrT 3R e Bigd sl TreTAt § it A

a3 c
c 3R d

ﬁﬁqwﬁwﬁﬁﬁwﬁzﬁmwaﬁl
(A) a3Rb

(C) b,c3d

(E) gaid o

®)
D)

What is the minimum number of hours recommended to stay at the delivery center after delivery? (Choose the most

appropriate option from below)
(A) 12 Hours

(C) 36 Hours

(E)  Question not attempted

®)
(D)

24 Hours
48 Hours

SE o TG TS 5 5 o Y HH fohd He qoh o ol Heare &t St 82 (e 5 1 Hell 3ugh forshed )

(A) 1282
(C) 36%
(E) Jaia g4

®)
D)

245
485

Find the most appropriate letter to be placed in place of question mark (?) in the given figure.

& i STreRfr F war o (2) % T T T ST AT G SUgh 3TeR T TeTH IR

3 4 9 6

1 8 8 3

A) M
© Q
(E)  Question not attempted / \'ﬂfﬁﬁﬁ e

ﬁw%ﬂgd T “hHd’ 1 GF = T2 2=

(A) Hed
(C) =N
(B)  orgafa g

AS1] +

11

(®)
(D)

(B)
(D)

~ Z

NN N0
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52 Early childhood education (ECE) included the component of ‘Care’ i.e. Early childhood care and Education (ECCE).
The main element of care is:
(A) Playway and Activity oriented method for development
(B) Vocabulary of Child
(C) Knowledge of Child
(D) Health and Nutrition
(E)  Question not attempted
YRR sTeaTereT R f37eT (ECE) ® ‘A 9T ol Ush e SISl AT § , ST Fe YRR sTeaaeT S@Ter 3 farer
(ECCE) @1 TR | F&l ‘a0 4 &7 dedf Sidfifwa & 2
(A)  Tohre g Wel-3he (wid) SR 3@ Tfdfater (B) &= sl vreqracil

(C) T=AHINA (D) e 3R AT
(E) i o
53 Full form of NRHM is -
(A) National Regional Health Management (B) National Rural Health Mission
(C) National Relative Human Mission (D) National Rural Human Management

(E)  Question not attempted
TF. 3. T, TH. (NRHM) T 1 &9 2-

(A) TSR ITefRTen Tamee geeq (B) TS eior ey fhee
(C) Tsdra amaferes At i (D) TS o gl et
(E) 3gaid o

54 Find out the wrong number in the given sequence of numbers.

TSI o 3T T 6H H TeTd ST T Ul TR
9,12,17, 20, 25, 28, 34, 36, 41
(A) 34 B) 25
©) 41 D) 17
(E)  Question not attempted / \’Hﬂﬂﬁﬁ e
55 Positive thinking is a term associated with - (Choose the most appropriate option from below)

(A) Expressing certainty (B) Keeping one self clean

(C) Doing task on your own (D)  Ability to control your behaviour
(E)  Question not attempted

RIS |  Heiferd e wTieTive g 8 (e 3 & Tt Sueh ST )

(A)  Tferaan i stfireate (B) ¥ ! TE (UT%h) T&AT

(C) o HI T HAT (D) 39 FFER i (AT T T Frvar
(E) Jaid o

56 Vijay purchased 50 dozen eggs at Rs. 40 per dozen. Of these, 40 eggs were found broken. At what price per dozen
should he sell the remaining eggs in order to make a profit of 5%?
(A) Rs.45 (B) Rs.42.50
(C) Rs.48.50 (D) Rs.50
(E)  Question not attempted

forst 3 50 &SI 37 40 TR Wfer &Sl 6 A1 @ @] 395 & 40 312 22 g Mehcd| sl g 37T bl a8 Ty il (Wfey aier) @

o 7o 38 5% AT B
(A)  45%0 (B)  42.50 79
(C) 48.50%F1d (D) 50%
(E) Jaid o
57 Kudumbashree programme was associated with . (Choose the most appropriate option from below)
(A) Urban Employment Programme (B)  Rural Employment Programme
(C) Poverty alleviation Programme (D)  Tribal Development Programme
(E)  Question not attempted
REaEIEIRER] O eiferd om (1§ & Tl U foshed =)
(A) T USHTR iy (B)  TITHYOT TSHIR hrishd
(C) Tl I (Famon) Frisn (D) ST forehrer i
(E) gaid o

AS1]| + 12 [ P.T.O.
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58 Sea food is a suggested food to prevent Goiter because it mainly contains:
(A) lodine (B)  Chlorine
(C) Calcium (D)  Phosphorus

(E)  Question not attempted

T AT SET T T Uk o ToA, SreaTierd WIS & ifoh 38H e : SURed &:

(A) AEEH (B) FANH
(C) Ffowm (D) HEERE
(E) rJaid o

59 Sl T SEHT HETe i Eiiersh SUYh 379 8-
(A)  STETLEAT (B) Wik #1
(©) Wzm‘ D) foafaagmr
(E) aﬁﬂﬁﬁw

60 Swarna Jayanti Shahari Rozgar Yojna (SJSRY) was launched in which year ?
ot SRt 3Tt TSR AT (SISRY) Tt a1 4 37 ot 775 oft?
(A) 1992 B) 1997
(C) 2000 (D) 2004
(E)  Question not attempted / M@ﬂﬁﬁ EE)

61 A boy starts from point A and travels 3 km eastwards to reach point B and then turns left and travels thrice that
distance to reach point C. He again turns left and travels five times the distance he covered between A and B and
reaches his destination point D. Find the shortest distance between the starting point and the destination point.

(A) 12km (B) 18km

(C) 25km (D) 15km

(E)  Question not attempted

Tsh ST *A” Torrg & AT T hLdT € A el shi ST fofeg B ok 3 fohrll. AT 2t 8 3TN 360k o1e o8 o1 gt foig C
T g H 3 mnwaam%l %ﬁﬂﬁaﬁm%aﬁtAﬁB o sl sh {1 =1 4f= 7O A 7 S Tiere feig
D @ Tgaar 3l mmﬁaﬁmﬁa%aﬁaﬁwaﬂmaﬁrﬁql

6

(A) 12 et (B) 18 forr,
(C) 25 et (D) 15 forr,
(E) gaid o
62 Which one of the following is an example of “Written Communication’?
(A) Public speeches (B) E-malil
(C)  Group discussion (D) Face to face conversation

(E)  Question not attempted

Frfafaa & @ = a1 feirflaa d=me 1w SerEr e?

(A) TEST TS0 (B) 39«
(C) ¥HE-HaE (D) AT ATdieTd
(E) gaid o
63 53" International Film Festival of India, (IFFI) was held in .
(A) Goa (B)  Jaipur
(C) Delhi (D) Mumbai
(E)  Question not attempted
IR 7 53471 ST foher T@cde (IFFI) FgaAT oM
(A) Tar (B) AW
(©) faceht (D) o
(E) i o

AS1] + 13 [ P.T.O.
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64 A sum of money is invested at 6% simple interest per annum. How long will it take to increase its value by 60%?
(A) 12years (B) 8years
(C) 6 years (D) 10 years

(E)  Question not attempted

Teh 13T 3BT 6% SATNeh BTEROT 37T shi <€ 9T A f3Ta foram T 81 58t 719 60% 31fres 8 8 58 fohdam a9 o

A) 1299 (B) 899
(C) 6a¥ (D) 10a¥
(E) gaid g«
65 In India, children of which age group are given preschool education? (Choose the most appropriate option from below)
(A) 1-2years (B) 2-3 years
(C) 3-6years (D) 4-8 years

(E)  Question not attempted

TR | fore AT ol o sl ! wiredt g fRrear &t et 82 (et 8 9 werd 3ugh forehed <)

(A) 1239 B) 2339
(C) 3-6a9 (D) 4-899
(E)  rgaid o
66 Juicy fruits forest are found in:
(A) Cold zone forest (B)  Evergreen forest
(C)  Coniferous forest (D)  Mediterranean forest
(E)  Question not attempted
et el 5 SiTer (S S ) T o
(A)  Yid & o (Fles S BRE) (B) UEERETH
(C) FudaTH (D)  -HEFENRR o (HEd R witw) §
(E) gaid o
67 Which of the following is not a charateristic of resources? (Choose the most appropriate option from below)
(A) Utility (B) Manageable
(C)  Accessibility (D)  Non-interchangeable

(E)  Question not attempted

Freftfad o & 1 € TeTeE T TR 721 22 (F 7 & For ST St <)

(A)  Swnfiar (B)  SeeTEar
(C)  ug=/AnTTRIT (D) Afafwg I
(E)  Iaid o

68 Given below are two statements:

Statement I: Newborn baby should be given OPV-1 Polio dose after the completion of 3™ month
Statement II: Newborn baby should be wrapped in a wet cloth immediately after birth

In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct but Statement II is incorrect.

(D) Statement I is incorrect but Statement II is correct.

(E)  Question not attempted

EIERAOE AT I
U - 1 : TSI 3137 1 waeft Giferit s (OPV- I)Fﬂﬂiqﬁ%ﬁéﬁwa"raﬁr%l

HAT - 11 : Wﬁmaﬁw%maﬁrﬂé FIS H AYZH TAT AT
mm%mﬁﬁwﬁr@ﬁﬁwﬁﬁwwaﬁ

(A) I RIS HE ) (B) AT 31 T 7T B
(C) FATIEE L, o] FoT [ TTeIa 2 | (D) o 17T €, Tore e I el 2l
(E)  orgafa g

AS1]| + 14 [ P.T.O.
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69 For the sentence given below, choose the most appropriate transformation into the passive voice from the options
provided.
The mechanic repaired the car.
(A)  The car will be repaired by the mechanic. (B)  The mechanic can repair the car.
(C)  The mechanic had repaired the car. (D)  The car was repaired by the mechanic.

(E)  Question not attempted

70 fretafed & & sfaerae R e i w se

(A) e fopa (B)  3TohHa fohaT
(C) ug fopar (D) feeds foram
(E) gaid o
71 Which of the following is not a natural land form?
(A) Mountains (B) Plateau
(C) Plains (D) Canals
(E)  Question not attempted
Frafaftaa & & i wefos wemsia 7@ 22
(A) Tad (B) W3R
(C) Fem (D) &
(E) i o
72 G Lok ETy g I A it
et 1 e 11
Ieg foretm vreg
a. pPIE) L. aH
b. A 1L foreaw
c. ™ . g
d. m V. I
e T T fereredl # & waifereh ST S o =g HIfs;
(A)  a-IIL b-1, c-I1, d-IV (B)  a-IIL, b-II, c-IV, d-I
(C) a1V, b-II, c-III, d-I (D) a-I, b-IV, c-II, d-1II
(E)  aid o

73 Two statements are given below :
Statement I: Children are curious and have an innate desire to learn.
Statement I1: Teachers should use single strategy to meet children’s various learning needs.
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Both Statement I and Statement II are correct. (B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect. (D)  Statement I is incorrect but Statement II is correct.
(E) Question not attempted

EIC KO EN TR I

o | : T 9T 81 & ST 37 Hig ot Seima (e =ot et 8

U 11 : R1&ThT bl ol ohl fig sht farfiret STrazasharatl i gfd o foIg wehet Wi T STanT e =mfey)
ST YT 1 ST H Tad ge, =t o 7 foshet # & waiifires 3w 3ot 1

(A) e I 3T e 11 31 & Gl & (B) T T H 1 SHT & 7T &
(C) YT 1 TET R Aok o 11 7ot & (D) U [ 7T & Tfehd e 11 et &
(E) gaid o

AS1] + 15 [ P.T.O.
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Given below are two statements:

Statement I: In ICDS program for supplementary nutrition the target group is children below 6 years

Statement II: In the programe immunization is also provided to pregnant, lactating mothers

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct but Statement II is incorrect.

(D) Statement I is incorrect but Statement II is correct.

(E)  Question not attempted

U - I : ICDS FHRIHH § e UIV01 8 A& G 6 Y 8 HH 377 % = ¢ |

HAT 11 : 39 HREHA T et 3 T FHU et J1aral st off Sehietor e forar st 21

ST O o ATl H Fferfiad fospedt & & wdifeen 3ugwh ST

(A) 13 IT ST &l &

(C) FFIWEIE, g F I Tad 2 |

(E) o1« R
Micronutrients includes
a. Proteins
c. Carbohydrates
€. Vitamins

(B) &Y I 3 11 T TTerd 2

(D) FFITAAE, forg T I wET 2 |

b. Fats

d. Mineral

Choose the most appropriate answer from the options given below:

(A) aandconly.
(C) dande only.

(E)  Question not attempted

Y& G ded | H AAH{AT &
a. Sicic)
c. 3F|3ﬁ€13§2
e. faafm
et faw T forspedi # € HaTifesh ST ST
(A) Faet a 3T ¢
(C) FHaAdNe
(E) i o

(B) bandd only.
(D) aandd only.

b a1
d CIES

(B) hadl b3 d
(D) hadTa 3N d

Which archaeological site of Indus Saraswati Civilization is in Pakistan? Choose the most appropriate answer from

below:
(A) Kalibangan
(C) Dholaveera

(E)  Question not attempted

Toree] Tl WarelT <hT hi T JUIdTicareh €It UTfeheet = H 82 1 # & ward 3ugh S <

(A) IS
(C) oardRr
(B)  oFgafa g

AS1] +
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(B) Raipur
(D) Harappa

B) TR

D

D) wewr

[ P.T.O.



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

77

78

79

80

Select the correct statements from the following:

a. Dietary fibers are also known as roughage.

b. Rice and Bajra are the best source of protien.

c. Milk, carrot and mango are rich sources of Vitamin A.
d. Fat rich food may cause obesity.

Choose the most appropriate answer from the options given below:

b and c only.
a and d only.

FHaa b N ¢
T a AN d

Diarrhoea, Influenza
Tuberculosis and Poliomyelitis.

candd
bandc

(A) aandb only. (B)
(C) a,canddonly (D)
(E)  Question not attempted
Frferfiaa & & @&t et w1 e Hife:
a. SRR ® waie Wl FEA dl
b.  FEW SRS N & TETH 6 2
c. 39, TSR 3R AW faarfiT A & 995 dia €|
d. ORI IS Y HIT & TRt 2
+frar R Faerdt o & wrafferes S S )
(A) Hada3Mb (B)
(C) HacTa, c3d (D)
(E) i o
WHO considered the following diseases which endanger the health of a child.
a. Whooping cough, diptheria b.
c. Tetanus, Measels d.
Choose the most appropriate answer from the options given below:
(A) aandc (B)
(C) a,candd (D)
(E)  Question not attempted
WHO 7 Fr=ferfga & @ for sfmmfat =) s & w@reed & o watres 9T 2-
a. Earll @'T'Fﬁ, ferofif@r b.
c. femm @aw d.
< R T feeet 2 & o e SAC)
(A) a3fRc (B)
(C) a,c3Nd (D)
(E) gaid o

On 13" April 1919, an assembly was organised in Jallianwala Bagh to protest against the

(A) Government India Act (B) Rowlatt Act
(C) Official Secrets Act (D)

(E)  Question not attempted

13 31T 1919 =l S TaTeT ST H

(A)  9TRG TR AT (Terne gfear tae) B) TR
(C) AThifyrreT Hishe Tae (D) e yaus

(E) ofgafa g

AT, $HIUST
Tufaes 3R MfcramTsfored

c 3R d
b3 ¢

Indian Press Act

o Torer T T ek T T TSI TR 7T o)

The present ages of Anuj and Deepak are in the ratio of 7:4 respectively. After 10 years their ages will be in the ratio

of 4:3. What is the present age of Deepak?
(A) 6 years

(C) 12years

(E)  Question not attempted

(B)
D)

8 years
14 years

TS I e 3 STHT AT T ST SRT: 7: 4 21 10 T 2T 39T ST T ST 4:3 BT S| e hl Ao A1

FTR?

(A)  6a¥

(C) 1299

(E) i o

AS1] +
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(B)
(D)

g ay
14 9%
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81 Mission Indradhanush aims at - (Choose the most appropriate option from below)
(A) Identify, enlist, vaccinate and track to achieve the full immunization coverage to children
(B) Measles elimination
(C) Reducing mortality and morbidity caused by measles
(D) Polio elimination
Question not attempted
fﬁwwws&w% (T 5 & w8 SISt )
(A) TEAN HT, Gelag FH, FIRTeRTIT AT ST st 3h 7T AT 3 ey Y 2oh hielT
(B) EHU3HTH
(©) @ﬁ%w%ﬁaﬁrwaaﬁrwﬁw HET
(D) eI e
(E) agﬂﬁ?fzr%r
82 Two statements are given below:
Statement I: Poverty is the main reason of malnutrition in India.
Statement II: Large family and rapid succession of pregnancies adversely affect the nutritional status of mother.
In light of the above statements, choose the most appropriate answer from the options given below :
(A) Both Statement I and Statement II are correct. (B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect. (D)  Statement I is incorrect but Statement II is correct.
(E) Questlon not attempted
EIERERCLEEE
YT -1 : TR H ?ﬂﬁw T T 0T A B
U - 11 : T TRAR 3 ST THETROT AT, HIAT T 0T ST T ekt ST STl
EERNEREIED aﬂaﬁzﬁﬁﬁwﬁ«rﬁaﬁﬁwﬁﬁmmwaﬁ
(A) I T SAH 11 3T 8w ) (B) oM 1 I 11 3T rerd &
(C) FAAIEHNL, FrgFaT I Taa 2 | (D) YA 171 &, foheg o 11 =T 2
(E) gaid oy
83 Evergreen forests are not found in . (Choose the most appropriate option from below)
(A) Western slopes of Western ghats (B)  South West Punjab, Western Rajasthan
(C) Andaman and Nicobar group Islands (D) Assam and Northeastern region
(E)  Question not attempted
QEEER SIS (AF)  H AR A S| (e E e 3w S )
(A) Ut eme o ufseh gamT (B) <0 TR USTTE, afa Tt
(C)  3feaM iR e 5T e (D) 318 ST I &
(E) orgafd g
84 At the tlme of Independence, how many Riyasats were there in Rajasthan? (Choose the most appropriate option from
below)
AT o6 G TSTe T H Tehat e oft? (R & & wer Swgeh forehe <)
A 11 B) 15
© 19 D) 29
(E)  Question not attempted / Wﬂﬁﬁ 9T
85 ICDS (Integrated Child Development Service) scheme was launched in India in:
IRA § ICDS (WHTHA ST foehre HaTd) ATSHT fore Iy # TRF 852
(A) 2005 (B) 1998
(©) 1975 (D) 2010
(E)  Question not attempted / 3@3’&?[ EE)
86 Treaty of Madras is associated with
(A) T* Anglo-Mysore war (B) II" Anglo-Mysore war
(C) I Anglo-Mysore war (D) IV" Anglo-Mysore war
(E)  Question not attempted
TS T Y Heifera 21
(A)  TIH AT - B TS (B) ot a1 - Aqr g
(C) et st fmw:s; (D) = 3 — ﬁwa:s:
(E) aﬂﬂﬁ—dw
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87 Choose the most appropriate suffix to complete the underlined word in the sentence given:
There was no claim for the lost watch at the Lost and Found counter.
(A) ible (B) able
(C) ant (D) mant
(E)  Question not attempted

88  Tfctfiad o & “HIN-hIT ITo3-F7 T Tall o1k SIH 379 -

(A) TSIHT - Ie3-6U" (B) fagqer—far
(C) w=-faa (D) W&o
(E) rgaid gy

89 Two statements are given below:

Statement I : The preschool education is mainly dependent on the behaviour and characteristics of the persons who
are in contact with the child.

Statement II : The preschool education requires a high level of educators and expensive equipments.
In light of the above statements, choose the most appropriate answer from the options given below :
(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct but Statement II is incorrect.

(D) Statement I is incorrect but Statement II is correct.

(E)  Question not attempted

:ﬂ% EERERCE S

U - 1 2 TTCAT Yo 78T A sFeel o Hoh H T& alTed SAfchall o sAag ST =i ot Fut et 8

HAT - 11 : Wﬁﬁw}%qﬁw%w ST T JUSHUTT ST STTETTIshdl Bl &

ST T 3 ST § PR ke o & He Sat T -

(A) Wlaﬁtwnaﬁaﬁ%l (B) U1 3R 11 2 e B
(C) FATIEENE, o FoT [ TeTa 2 | (D) YT 17T & Aok e 11 Tl 2
(E)  aid o
920 Which of the following is not a self-management skill?
(A)  Understanding self (B) Bargaining
(C) Problem solving (D)  Confidence building
(E)  Question not attempted
M T T higTet e 82
(A) T I TEIET (B) HIESt
(C) OHET ! GAHHT (D)  sTrcafaam fmfor
(E) orgafa T

91 Two statements are given below :
Statement I : Poshan Abhiyan created a universe around poshan tracker which consists of pregnant women, lactating
mothers children up to 6 years of age and adolesent girls as beneficiaries.
Statement II : At the centre of this universe are Anganwadi workers assisted by Anganwadi helpers who are help-
ing in making India malnutrition free.
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct but Statement II is incorrect
(D) Statement I is incorrect but Statement II is correct
(E)  Question not attempted

fa e fermu e

A - 1 2 TIYOT SR T AT A1 G2 TIV0T oot e &, e aArmeff o & H et Ao, S s areft
HIdTd, 6aﬁwaﬁmé€aﬁsﬂtﬁmﬂwﬁaﬂnwﬁaél

U 11 ; 30 Gkl 3 S & SATTHETE! reishal, o ARTIAT X &I SIS HRTIIHTY SiT foh W <Rl HaTeor 7k

a:ﬂ%frﬂaaa?{lfrél

IRIh T o Tl § Fefrfiad forshedt § @ warifers 3ugeh S o :

(A) Wlaﬁtaﬁmnaﬁmﬁ% (B) Wlaﬁtna‘r:ﬁw%l

(C) FATIERN L, g T 1T 2 | (D) A 1 7T &, AfR e 11 92 8
(E) gaid o
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92 Early Childhood Care and Education (ECCE) includes
a. Health b. Nutrition
c. Early Learning d. Play
Choose the most appropriate answer from the options given below:
(A) a,bandc (B) Db,candd
(C) a,b,cand d (D) a,candd
(E)  Question not attempted
TR ST TEET 3@vTe 3R 3181 (ECCE) ® oFam Tmfiet 22
a. @ b. WO
c. itk farerr d. E]
e fog o forehedt # & wafferes S S 4
(A) FacTa, b3 (B) adb, c 3 d
(©) a,b,c&ﬁ(d (D) ada, ¢ 3d
(E) gaid o
93 According to the food guide pyramid for Indians, arrange the amount of different types of food in order of intake:
(most important first, less important next)
a. Body building food (proteins) b. Energy giving food (carbohydrates)
c. Protection food (eg. vegetables, fruits) d. Fats and Oils
TR % fore @mer e fifire & S1gam farfirt wehm 3 TS o S il 7T B 5 F A (W HeeE ga,
IHY HH I
a. a1l fafeg g8 (M) b. I YGTH A ATEAT SIS (FTeTEISE)
c. LT AT (Afostat, %) d. 4T IR A
Choose the most appropriate answer from the options given below:
et fa T fersredt # & waiferes SR ST A
(A) b,c,a, d (B) a,b,c,d
(C) c,ab,d (D) ¢c,b,a,d
(E)  Question not attempted / ?ﬂﬂﬂﬁﬁ EEl
94 Match List-I with List-1I
List-I List-1I
a. Protein malnutrition L. Rickets
b. Thiamine deficiency 1L Marasmus
c. Vitamin D deficiency III.  Anaemia
d. Iron deficiency IV.  Beri beri
ERIPEXIRECIBIEINESIEEAIE I
ERIR! Gfl-11
a. ST L foeeE garim)
b.  offarie et I W
c. TaarfmEdrah [ 3THAT/ Tk SAeadT
d.  dRHH v. 3l
Choose the most appropriate answer from the options given below:
e fo T forepedt o & waferes 3Tgw SO |
(A) a-ILb-IV,c-ILd-1 B) a-I,b-IV,c-Ld-1II
(C) a-Lb-Ill,c-IL,d-1V (D) a-1V,b-1l,c-1Ld-1I
(E)  Question not attempted / 3@'&? EE)
95 Which of the following is a non infectious disease?
(A) Common Cold (B) AIDS
(C) Cancer (D) Ring worm
(E)  Question not attempted
frferfiaa o € &9 91 & Tshme U 82
(A) T (B) TEH (AIDS)
(€) F| (D) = (fora)
(E) gaid o
AS1] 4+ 20 [ P.T.O.
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96 Which disease is most commonly caused by deficiency of iodine?

(A) Night Blindness (B)  Rickets
(C)  Goiter (D)  Sterility
(E)  Question not attempted
AT it Foft & eaa: 1 € it a2 2
(A) Tt (B) @
(C) SETI (D) T
(E) gaid g«
97 Deficiency of Vitamin A mainly causes -
(A) Rickets (B) Anaemia
(C) Cancer (D)  Night blindness

(E)  Question not attempted
TeAq: faeriim A 1t 8 g A O -

(A) ferew (B) AT
(C) F (D) et
(E) gaid g

98 Two statements are given below :
Statement I: ECE helps to strengthen the feeling of security and self esteem in children.
Statement II: ECE provides the best foundation for lifelong learning.
In light of the above statements, choose the most appropriate answer from the options given below :
(A) Both Statement I and Statement II are correct. (B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect. (D)  Statement I is incorrect but Statement II is correct.
(E) Question not attempted
BIEEIEREN G
% - 1 : (ECE) $6Is o H a1 ST STCHERI i WIaT ! ASTald i H 7ag hidl 2
@A 11 : (ECE) 361 Sfta wdd ¥ig & ot i SR Je™ T 2l
ST FHAAT o ST H (ARG (hedi §  Gaeeh STgwh S o :

(A) T 13 I T &l & (B) U I 3T 11 ST TTeiel &)
(C) FAAIENL, FrgHaT ITaa 2 | (D) o 17T €, Tore o I e 2
(E) rgaid o«
99 During preschool age the child develops:
a. Language b. Social values
c. Motor activity d. Love with parents
Choose the correct answer from the options given below:
(A) candd (B) aandc
(C) a,b,candd (D) bandc
(E)  Question not attempted
T8 Shel! 3T % SR el 1 foshrg BT 2l
a. W b. CILISER]
c.  HTfifafy d. HTAT- T % T AR
<R R T feeet 2 & o Sweres S|
(A) c3Rd (B) a3Rc
(C) a,b,c3Md (D) b3c
(B) orgafa g
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100  Vaccine given to prevent whooping cough is:

(A) DPT (B) OPV

(C©) BCG (D) MMR
(E)  Question not attempted

=TT T T ek o TTT, foa ST ATt et 2:

(A) S (B) 3. W
(C) st &S (D) THTHIAR
(E) gaid g«

101  Which of the following programme focuses to reach and serve the ‘Last Child First’?
(A) National Plan of Action for Children (NPAC, 2016)
(B) National Health Policy (NHP, 2017)
(C) National Nutrition Mission (NNM, 2018)
(D) National Health Mission (NHM, 2013)
(E)  Question not attempted
frfafiad o & 9 |1 FRIE TR dT5ee HE’ T Tge 3T HaT i W Hiad 82
(A) \IF I 3ATE THRHE BR fHegT (NPAC 2016) (B)  A3MeT 2 Uiferdl (NHP 2017)
(C) e g e (NNM 2018) (D) IS 2 U (NHM 2013)
(E) gaidgd

102  For the maintenance of health and proper development of a normal child:

a. There is a need of supplementary food before 4 months
b. Breast feeding is encouraged
c. Parents are taught to select locally available foods that ensure balanced diet
d. The child should be vaccinated timely
Choose the most appropriate answer from the options given below:
(A) aandb (B) b,candd
(C) bandc (D) a,bandc

(E)  Question not attempted

T ol o T UF G forehTe 1 sH1e W6 o forg

a. 478 ¥ T HATER i STl erdt 2l
b. T I Wicafed foram Smar |
c.  HIAT-TUaT ! TATI & T Yo Wl UaTl T ol S AT Fo@maT STt €, it foh €qfora s1mer gifaa #ar 2|
d. =3 G 9T T (AT THEHT =Tiey)
et faw T fereedt & & e STgh 3ot <l
(A) a3MWb (B) b,c3d
(C) b3 (D) a,b3Rc
(E) gaid o
103  What should lactating mothers avoid to eat?
(A) Curd and Milk (B)  Tinned Juices and preserved foods
(C) Pulses (D)  Fruits and green vegetables.

(E)  Question not attempted

TITIH L Tt JTTf o6t T e T =feu?

(A) <RIqarTgy (B) fesareia s ST weferd wist
(C) =t (D) % AR & wfesat
(E) gaid o
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Two statements are given below :

Statement I: Deficiency of Vitamin A causes Xerophthalmia.

Statement I1: World wide, Protein and Energy malnutrition is the most common form of malnutrition.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct but Statement II is incorrect

(D) Statement I is incorrect but Statement II is correct

(E)  Question not attempted

He - 1 : foe1fim A it ft & SRiafowmam (greniféraen) a2

H 1 : T &, W 37t s oo Wmmmw%
mﬁﬁm%aﬂaﬁﬁﬁmﬁrﬁ@ﬁﬁmﬁﬁwﬁ%ﬁmwaﬁ

(A) o [ 3N A 11 341 &) &l &
(C) & 1 BT 8 Aok e 11 7Teld 2
(E) rgaid o«

For the sentence given below, choose the most appropriate answer in the negative.

Only the brave deserves rewards.

(A) Everyone does not receive rewards.

(C) Rewards are for the brave only.
(E)  Question not attempted

‘Rane Jagpat Ra Marsiya’ was written to mourn the death of which ruler?

(A) Maharana Jagat Singh
(C) Maharana Raj Singh
(E)  Question not attempted

(B)
D)

o 1 3 11 3R e 2

HY 1 TTeAd & Sifeh hed 11 98 2

None but the brave deserves rewards.

Nobody deserves rewards.

Maharana Rajveer Singh

forg w1k T o O ety o ToAw, <ot sirae A foram i em?

(A) HRRT SAId fig

(C) HERT TS '

(E) aidad
ﬁm%f@aﬁﬁmamwwaﬁﬁq—
(A) o1 T T WL &) ST

(C) T T@H IHHT 0T @ 1)
(E)  raid o

What causes pneumonia? (Select the most appropriate option from below)

(A) Haemophilus influenzae
(C)  Salmonella typhi
(E)  Question not attempted

et forereh o Elar 22 (e 3 & T Sugh forshed <)

(A)  EIther $HRIUST
(C) HToHHAT TEHT
(B) orgafa g%

T[T hT U8 <RI A AT <hT @IS H o7 T ol
wia%éﬁa?s‘aﬁﬁmﬁa‘raﬁqaﬁf—r%%%

Which of the following human disease has been completely eradicated.

(A) Tuberculosis
(C) Small Pox
(E)  Question not attempted

frfefad o & & & 7a W7 1 i S g3 &

(A) &F AT
(C) BRI=EH
(E) i o

AS1] +

23

B)

D)

(B) Mabharana Jai Singh
D)

(B)  wewmwT S fiE

(D) HERT TSER &8
(B)

D)

(B)  Plasmodium falciparum
(D)  Wuchereria bancrofti
(B) ToieHITeId herd U
(D)  FeRFET sieshither
(B) COVID-19

(D) Measels

(B) wifd=E-19

(D) w@au

[ P.T.O.
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110 Match List-I with List-II :

List-1 : (Part) List-II : (Function)
a. Oesophagus L. Stores and concentrates bile
b. Stomach 1L Transports food
c. Pancreas III.  Stores and Churns food
d. Gall bladder IV.  Hormones and enzyme secretion
i1 bt gef-11 & e hife
g1 (e TEA-11 : (FT)
a T8 AT (SHTHTE) I T3 T €38 I TiEe T &
b AT I IS o1 IRERT (ST
c. 3T (UfskaATen) . SIS T G 37T HF Far &
d.  foamm (e soi=y) IV. €M 3R T=ITgH J1aor
Choose the most appropriate answer from the options given below:
et fow T forspedt # @ Wtk SwIh St T ;
(A) a-ILb-1V,c-1d-1III (B) a-ILb-ILc-1V,d-1
(C) a-Lb-ILc-IILd-1IV D) a-1V,b-MLc-I,d-1I
(E)  Question not attempted / M@ﬂﬁﬁ EE)
111  Anaemia is caused due to the deficiency of in our diet.
(A) Fat (B) Iron
(C) Calcium (D)  Phosphorus
(E)  Question not attempted
BAN IR A Y Y % T ST (ThTeaT) 21 ST 21
(A) =TT (B) &
(C) Ffowm (D) HIERRH
(E) raid o

112 In which year did the National Covid-19 Vaccination Programme start?
TS HifS-19 SRR FRIsHH fohd o 3 I g3AT o2
(A) 2019 (B) 2020
(©) 2021 (D) 2022
(E)  Question not attempted / aj?lﬁ_cf e

113  Statement: - Should India make efforts to harness solar energy to fulfill its energy requirement?
Arguments : 1. Yes, most of the energy sources used at present are exhaustible.
II. No, harnessing solar energy requires a lot of capital, which India lacks in.
In light of the above statement/arguments, choose the most appropriate answer from the options given below:
(A) If only Argument I is strong. (B) If only Argument II is strong.
(C) Ifboth arguments I and II are strong. (D) Ifneither I nor II is strong.
(E)  Question not attempted

AT : AT A 2T ST St SATRFHATSAT sh Gfeh o o HI F5o11 shT STFNT HEA 2T TA HTAT =12
ek 1+ BT, IdHT 3 TIT T ST oTet St o aft Geme errefiet () 2

1L &, 9 Ssit o 3TART o fore et 21freh Ot ot smrarvarenar g, foresht wTea % o et 2
ST o 3Telles § Feferfiad foshedt # @ wiferen S S I

(A) I Fae ah [ 799 2 (B)  Afe et deh 11 Wi 2
(C) e 1 3R 11 IT w2 (D) AT T 1 3T & 1w
(E) rgaid o«

114  National Single Window System (NSWS) portal was launched in .
TS Ut flageht yotTeft (féiet foet fieem) (NSWS) wida i o At foRam T e
(A) 2019 (B) 2020
(C) 2021 (D) 2022

(E)  Question not attempted / ﬂ@ﬂﬁﬁ BES
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115  Select the most appropriate answer from options given below.
A solution of iodine and alcohol known as ‘tincture of iodine”’ has :
(A) Iodine as a solvent and alcohol as solute. (B)  Gas in liquid solution.
(C) Iodine as the solute and alcohol as the solvent. (D)  Liquid in gas solution.
(E)  Question not attempted
71 4 9 e 3 S =
SATANE TR Teshied o U forerem, i smidia a1 fi=e oft % 2, 8-
(A) TRNEH U fIetae B 3R Uehled U faer 81 (B) s ® 7 foered 21
(C) ITNEH U focid @ 3R Uehledd Uk fae@sh 81 (D) T A 59 o7 o 81

(E) aid gy
116  Match List-I with List-II :
List-1 List-11
Element Atomicity
a Helium L Diatomic
b. Nitrogen II. Polyatomic
c. Phosphorus III.  Tetra atomic
d. Sulphur IV.  Monoatomic
Geil-1 ! Gfi-11 & gaferd hife :
Het-1 Het-11
e TRHTUTAT (TEITHIEY)
a.  difcEd L g
b.  FTEIISH I SEETH
c.  WIERRE Il =AM
d. ek (FTH) IV.  UHIHEH
Choose the most appropriate answer from the options given below:
et few e fereredt | | HaTifee U S MY :
(A) a-ILb-Ilc-IV,d-1 B) a-OLb-Lc-I,d-1IV
(C) a-IV,b-Ill,c-1,d-1I (D) a-IV,b-Ic-I,d-1I

(E)  Question not attempted / ﬂjﬁﬁﬁ e

117 Two statements are given below:
Statement I: Weight of a child is a very sensitive indicator of his/her health and nutrition
Statement II: The weight curve detects the state of malnutrition, well before the appearance of other clinical

symptoms

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Both Statement I and Statement II are true. (B) Both Statement I and Statement II are false.
(C) Statement I is true but Statement II is false. (D)  Statement I is false but Statement II is true.
(E)  Question not attempted

fr @ e fagm E

U - 1: Foreft = o1 SIS 30k TR ST G107 i1 98 Hagaiiet §are araT 8
HYF - I1: IS 56 § 1T QTR A&V b Tehe & & et spareor sh feerfey ot warm o okl &
SUh T o AT H T Tiad feepedt & & Het ST o

(A)  FHA ISR ST FF B (B) HATI I HT 31 &
(C) FAAITAL, g T [ 38 2 | (D) FUTLHAAE, foh] HoT L HA B
(B) ofgafa g%
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118 A sum of Rs. 2300 is divided between P, Q and R such that P’s share is 1 times that of Q and Q’s share is 1L times
. . 2 4
that of R, then R’s share in Rs. will be

2300%. T TH TRTHIP, Q IR HsH UFR ST T2 for P w1 femamr Q & e =01 % 2 3 Q =T f@ar R & fewdr &1

1% T 2, df R T feeT &l H 2h-
(A) 800 (B) 600
(©) 400 (D) 1000

(E)  Question not attempted / C‘H‘:ﬁﬁ‘d BE)
119  The price of sugar reduced by 10% which enabled a shopkeeper to buy 10 kg more sugar for Rs. 3600. The reduced
cost of 25 kg sugar is
(A) Rs. 800 (B) Rs. 820
(C) Rs.900 (D) Rs. 860

(E)  Question not attempted
=T BT 7 10% ¥ &M T HFER 3600 T 7 10 Tehet safereh =t wrlie @enelm 21 25 foedt =i b1 sz gam oo 2 -

(A) 800 &9 (B) 820 %FqX
(C) 900 &9 (D) 860 T
(B) SFfdia gy
120  Match List-I with List-11
List-I List-II
Word Antonyms
a peevish L humility
b. generous 1L genial
c. latent II.  stingy
d vanity IV.  apparent
Choose the most appropriate answer from the options given below:
(A)  a-IL b-IIL -1V, d-1 (B) a1V, bl c-I1, d-TTT
(C)  a-IIL b-1V, ¢-1, d-II (D) a1, b-I1, ¢-II1, d-TV

(E)  Question not attempted

121 9= 1o @rer g 11 o1 e shifsig

et 1 et 11
Tty foese Hfer
a.  FAIE = 3 + I L T
b. TERI =T +3I I e
c.  ICAEYIH = Al + ATHIR n.  dEERr
d.  wegd =wer+ g v. FgEfy
i faw T fereredt # & wrariferes Suges ST T = IS
(A) a-L,b-III, c-1I1, d-1IV (B) a-lll, b-IV, c-1, d-1II
(C) alll b-I, ¢, d-IV (D) a-l, b-1, c-1V, d-11I
(E)  raid o
122 Replace the underlined word with another most appropriate word that has a similar meaning from the options given
below:
I prefer that you give me a summary of the novel before I actually go on to read it.
(A) Portrayal (B)  Depiction
(C)  Synopsis (D) Narration

(E)  Question not attempted

AS1] + 26 [ P.T.O.



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON
Google Play

123

124

125

126

127

Which of the following is NOT an objective of ICDS scheme?

(A) to improve health status of children in the age group (6-12 years).

(B)  to reduce incidence of mortality and school drop out.

(C)  to enhance the capability of the mother to look after needs of the child.

(D) to lay foundation for psychological, physical and social development of the child.

(E)  Question not attempted

fforRad § & &1 |1 (ICDS) 311, 1. 21, T8, TS 1 383 A8 27
(A)  6-12T8 % AR T F Toall oh TATET TR A5 FAT

(B)  HcY 3T 3R frarmeid Big arelt & (Ut H it it
(C)  TcTeh ht STTETIRATIT hl @I L H HTAT hl &9t T fershrer |
(D) et o HASRI, IR R ik e i g wem

(E) gaid o

Select the incorrect statement for post-partum care:

(A)  The post-partum period begins immediately after the birth of a baby.

(B)  The post-partum period lies in the 9th month of pregnancy.

(C)  During post-partum the mothers goes through many hormonal and emotional changes.
(D)  The post-partum care includes vaginal care and care for her new born.

(E)  Question not attempted

THEIR G- 9Tl o T e h = ah:

(A) R3] S 3 QU o8 THEI STafer ST 8 i 2l

(B) e ratey mferee 3 o3 mre # At

(C) SRR ST o SR HIAT g BTHIA TR HTeHATH THEd1 § Tt &
(D) JHERH @I | I <l 3@Tet 37T FasiTd i a@Tet I 2

(E) rgaid o

Which of the following diseases is not covered under immunization programme by ICDS Scheme?

(A) Diphtheria
(C)  Elephantiasis
(E)  Question not attempted

a8 S AT (ICDS) 1S, ©f. <t T8, FSH1 % TTReATHT HRIhH o Sidid el SATdT 872

Tuberculosis

(A) feefifa

(C)  =dITg (vefithfeaniem)

(E) gaid o

Research in neuro-science confirms that of brain development already takes place by the time a child is six years

of age. ((Choose the most appropriate option from below)

A) 70%
(©) 75%to 80 %
(E)  Question not attempted

50 % to 60 %
90 % to 95 %

=93 (freRT-fo) 7 ¥ 56 o i g a2 o6 ©: ad Y o1y ao s o Afkash 1 faw & e e

(F7 o & e Sueh ferene <)
(A)  70%

(C) 75%T80%

(E) rgaid o

Which one of the following is not a factor affecting perspectives in communication?

(A) Language
(C) Culture
(E)  Question not attempted

50 % ¥ 60 %
90 % T 95 %

frfafad & 9 9 a1 99 § uftie st gifad s aT1ar e 12 82

(A) /Rt
(©) wefd
(E) i o

AS1] +
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Two statements are given below :

Statement I : On 29th May 2021 the PM care for Children scheme was launched by honourable Prime Minister of

India

Statement II : This Scheme aims to support Children who have lost both the parents or legal guardian or adoptive

parents to Covid-19 pandemic during the period starting from 11 March 2020.

In light of the above statements, choose the most appropriate answer from the options given below:

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.

(E)  Question not attempted

EIEEACOCR R

R - 1 : YT & AT TeTHT RT 29 7 2021 i == o fo1e d1.u 2k B Feeg aistr gy Y 718 offy
AT 11 : T H3 AISHT ol A& I o] hl GeRdT T & g 11 3= 2020 8 TRFY B4 aTelt 31af & de

IS~ 19 WETHRY 3 HROT 79 HIAT-TIaT A1 T STTEE A1 Zae Arar-faar a1 o @i foa )
SRIh T o STl § Feforfiad fospedt § & wariferss 3ugeh S o :
% [ 3R 11 ST TeAd 2

U [ 7T ©, AfehT AT [1 98l &

(A) o 1 3 11 341wt &

(C) HIEEE, fobeq FOA I TTeTq 2 |

(E) gaidgd

I 368 H HI-HT 14 Iugh 3G 82
(A) 3

(© =

(E) i o

freafrfiaa & & -8 aTRr et 1 Haifie ST A 87
HFE A FEHT G|
3 H HZ STeT siaT el Sl

(A)  HEAR I AT g

(C) Torarer udt St 21

(E) i o

T’ X168 T AAIeIh 3T (oIl oi-
(A) B3

(C) W

(E) gaid o

Which one of the following activities at home does not motivate the child?
(A) Provide maximum opportunity to the child to speak(B)

(C) Playing with the child as companion
(E) Question not attempted

Frafefaa & @ wim @t nfafafy, s s=e w A =2 wdi?
(A) o= B e % M T ATYF T IGH FET  (B)

(C) U &=l o &9 § <o & 91 QT
(E) orgafa g

freaferiaa § & 7 31eg % waeieh ST ST W63 §HE I 9T HITST
e, T, Sfifera

(A) e, ot ferae T 8
(C) A, 3ooid, THF

(E)  3gaid o
frefefiaa o @ waifers g 7 8-
(A) UTSaferd

(C) wsafd

(E) Jaid o

AS1] +
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Always criticising

T ST AT
I sl il G

Listening patiently to the child
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(A)
©
(E)

(A)
©
(E)

In certain code “HARYANA” is written as 8197151, how is “DELHI” written in that code?

is the world’s top infectious killer disease. (Choose the most appropriate option from below)

Tuberculosis
Malaria
Question not attempted

U T
AT
TN T

(B)
D)

(B)
(D)

AIDS
Dengue

fore =67 Grer g Tshmeh AR 81 (R o & e Sy fershed <)

Tsd

~

ST

T ORIV %2 (F18) H “HARYANA” &I 8197151 foT@T SITar 81 36 %is # “DELHI” %! fohg SR forar smam?

54389
45398

Which of the following is an example of intellectual capital? (Choose the most appropriate option from below)

Risk-taking ability

Network of Relationship

RGT A (G 33 il AT

ey T o (STTe)

ORS in adequate amount to be given.

No special attention required.

e HET § S 3T, Uy, AT =1y
SIS foRIy &4 S Y SATavFRdT e 2

(A) 54839 (B)

(C) 45389 D)

(E)  Question not attempted / ﬂ@ﬂﬁﬁ BE)

(A)  Sociability (B)

(C) Congnitive complexity (D)

(E)  Question not attempted

freferiad # & i siifeh dSft =T T 3T 22 (R 7 & ol 37 S )
(A)  gmEIRTERdT (B)

(C) EFHTH SAfeetar (D)

(E) oFgafa g

If a person is suffering with diarrhoea, what step should be taken?
(A) No liquid should be given B)

(C)  Self medication (D)

(E)  Question not attempted

I Teh ATk o & Hifed 7, 1 71 haH 38 A11e0?

(A) IS I aTY T&i o7 =1fen) (B)

(C) @-Tafewar (D)

(E) gaidad

Which of the following is not a danger sign for a pregnant woman during pregnancy? (Choose the most appropriate
option from below)

Severe swelling in legs
Adequate appetite

frferfiaa # & s e 3 SR mHadt o forg @t 1 Hehd 7 2 (1 o & wodt S forehed 99)

(A) Feeling weakness B)
(C)  Severe stomach pain (D)
(E)  Question not attempted
(A) FASIR HEqH e (B)
(C) UHASTEBHT (D)
(E) i o
EREXIPE B IEIRECIEEIEIY

et 1

e
a. I L
b. W IL.
c. I 1L
d. HITTH 1V.
et fow T fershedt # & wiferer ST ST hT == hifefT;:
(A)  a-Lb-II, c-IV, d-TI (B)
(C)  a-IL b-I, I, d-IV (D)
(E) i o

AS1] +

29

A stcafires o g
TITH 9 T

it 11

NERC )
[ERIECERCESIECHS
& 11 96 =8 FT AT dle
ELESERIKCY
EIETERICIN

a-III, b-1, c-1V, d-1I
a-1, b-111, c-11, d-IV

[ P.T.O.
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AS1] +

Statement: The employees association has appealed to the manager of company “A” to introduce written examina-

tion for clerical cadre recruitment to prevent selection of incompetent persons.

Assumptions: I. The company ‘A’ used to select candidates without conducting a written examination.

II. A written examination can help to identify competent persons.
III. At higher level, written examination may not be of much use.

In light of the above statement/assumptions, choose the most appropriate answer from the options given below:

(A) TandII are implicit.
(C)  Only II is implicit.
(E)  Question not attempted

(®)
(D)

Only I and III are implicit.
All are implicit.

U HHAR G 7 “A” FHUT o TeTh T ST RN ok 9 bl Yo o 70 feAfuen Tat hit 9t o fore forfiaa wdtan

ST Y Y o7t B 2

HFAYNOMG : L. huAT A’ il o1 = forr fetfiaa adtetr shae s oft

11. ferftae weqr o safchat it Te= i § TeEdT S Ghd! 8l

111 39 TR R forfiga wdiem, sme saer R T8

ST o AT § Fefctiad foreredt § & wafers ST 3

(A) 131 e
(C) waw 11 fafdarE R
(B) i g

(D)

ER
B) Faa 1 3K 111 fiffare &
aft ffdfare &)

After allowing a discount of 16% there was still a gain of 5%. The percentage of marked price over the cost price is

16 Sfcrrel sht 552 3 o wTa ot 5 Ffcrere 1 <1 371 ST Fed W et Heer 1 gfaerd €

A 15%
© 21%
(E)  Question not attempted / aj?lﬁ_cf e

®)
(D)

18%
25%

Identify the element which is not associated to non-verbal communication.

(A) Posture
(C) Eye Contact
(E)  Question not attempted

(B)
(D)

Touch
Language

39 cd/3AIS T U= shifsT Sit A fges G § Geiferd e 2|

(A) 7=
(C) FFdUH
(E) rgaid g

Pulses are mainly good source of
(A) Carbohydrate

(C) Protein

(E)  Question not attempted
el TId: Toh 31T &l 2

(A)  FETERSE H
(C) W
(E) gaid g«

®)
(D)

(B)
D)

®)
(D)

Tt

HNT

Fats
Calcium

eIl
i 1

At what rate percentage of simple interest money becomes eight times of itself, if the same money becomes four

times of itself, at a simple interest of 6% per annum for the same duration?

Toha STCTT |TETROT SATST ST & W 1S & 3T 3713 T[0T &1 ST 2, A< A8 G 6T ST H 6% AT HIER0T AT i &

Y &R} T = T[0T & ST 82
(A)  10%
©) 14%

(E)  Question not attempted / SHQHHI\IEI EE)

®)
(D)

12%
16%

Which one of the following is not a major source of Carbohydrate?

(A)  White bread

(C) Butter

(E)  Question not attempted

frfafiad o & = 91 T Freierzge H1 9 Jid 121 82
(A) UHETS

(C) wHagq

(E) gaid o

30

(B)
(D)

®)
(D)

Rice
Potato

=t
AT

o
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147  Measles is caused by:

(A) Fungi (B) Protozoa
(C) Bacteria (D)  Virus

(E)  Question not attempted

GO e gRT SId BidT 82

(A) HFH (HE) (B) WIS
(C)  Sftamy @) (D) ooy (amerea)
(E) rgaid o

148 If ‘BLUE’ is coded as ‘26” and ‘BLACK’ is coded as ‘22’°, then how will ‘GREEN’ be coded?
I ‘BLUE’ % 26 Fied AT ST 8 TR “BLACK” i 22 Fled [AT ST &, df “GREEN” I T8 ShI shfeet Tt SITam?
A 75 B) 80
(©) 81 (D) 62
(E)  Question not attempted / ﬂ@ﬂﬁﬁ BE)
149  Which of the following are intervention under Rashtriya Kishor Swasthya Karyakram (RKSK)?

a. Weekly Iron Folic Acid supplementation Programme
b. Lactation Management Centres
c. Scheme for promotion of menstrual hygiene among adolescent girls.
d. Intensified diarrhoea control fortnight
e. Adolescent friendly health clinics
Choose the most appropriate answer from the options given below:
(A) a,banddonly. (B) b, candd only.
(C) a,candeonly (D) aande only.

(E)  Question not attempted

frefafaa & & #i s foremit Tamees wRisH (RKSK) & Sidid aftgferd 82

a.  WTHIGH A BifcTeh TS ST Frish

b. UM YEUd e

c. Toranfr o wifees o @=sar 1 icatfed s & fo T

d. e g T gEaret

e.  ToreR fimea @y w=fifTes
et fa T forsredl # & wifaes SR ST’ |
(A) ShdcTa, b3 d (B) Faelb, ¢ 3N d
©) FacT a, ¢ 3N e (D) FacT a AN e
(E)  raid o

150 Two statements are given below :
Statement I : The common side effects of vaccination include, mild fever, headache or flu like symptoms.
Statement II : It is very common to have severe allergic reaction to a vaccination.
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Both Statement I and Statement II are correct.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.
(E)  Question not attempted

fearFefiume:

U - 1 2 AR o6 HIHT ST H Beohl J@, Tiae A1 vef S eAeior 7 &1 i 2|
HATII : ¢|*|*{U|ﬁmﬂtwm%uldlshql‘sﬁma%ﬁﬁwaﬁﬁl

IRIh YT o ATl § Frforfiad fospedi ﬁﬁw%mwaﬁ

(A) o 1 3T e 11 a1 & Tl 2 (B) o [ 37 11 A7 el 8
(C) FATIERE, o FoT [T 2 | (D) W [ TTT & Tfehd e 11 el &
(E) i o

AS1] + 31 [ P.T.O.
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